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3, Aseparate Answer Skeet is given. It shouwld not be folded or mutilated. A second Answer Sheet
shall not be provided. Only the Answer Skeet will be evaluated,

4, Write your Roll Number and Serial Number of the Answer Sheet by pen in the space prvided ahove.
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14P/201/5(i)
Na. of Questions : 150
el & €& : 150

b .
Time : 25 Hours Full Marks : 450

m:z% wve quifE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
"(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark wiil be awarded for each unattempted

question,

STferpIRrER 99l @ & FHEA B THE B | waE w3 ()
D F B AT T IO B RO OF ST T A
WIS STAT WS W ST SR

(2) If more than one alternative answers seem to be approximate to
the carrect answer, choose the closest cne.

I TR Sepeas I9C Gdl 39T & Mee gd| &, @ P
adt IO '

01. Asole ];impﬁemr decided to use the same bank account for his persqnal
affairs as for his business. Which of the following acccunting principle

is viplated ? _
(1) Going concern : (2) Separate Entity
(3) Money Measurement (4) Verifiability objective

wwm%ﬁqﬁw%%ﬁwﬁﬁmﬁsﬁmﬁaﬁ
& Bryey frar | FPrafafed # 9 Swies & pa Rso< & 3 e

BaT ¢
(1) Tag ==IEX | (2) 9UH AR
(3) MEw AT (4) TEUR IR

3 P.T.O.
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02. Which is the accounting concept that requires the practice of crediting

03.

closing stock to the trading account
(1) Going concemn (2) Realisation
{3) Matching _ {4) Cost

%@ﬁaﬁﬁmm%meﬁﬁﬂmﬁrﬁwmﬁ
#fEe fopgy ST FEYgE AT § 7

(1) Wag = (2) FgA

(3) wHIAr (4) VTR

The primary qualities that make accounting information useful for
decision making are ;

(1) Comparability and consistency

(2) Materiality and timeliness

(3) Relevance and freedom from bias

(4) Reliability and similarity |

Srafew e B BieT 3 R S S 6 R S
o7 B B | |

(1) gerreTRa o P (2) e o R

(3) sl o Fregemr (4) Tasriam oF |gegen

Outstanding wages is classified as :
{1) Capital Expenditure

(2) Revenue Expenditure

(3} Defered Revenue Expenditure
{4) Defered Capital Expenditure
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oTET Forgll & ......... B ®Q F Fiipa BEEr wen B
(1) gsia =5y [2) T =

(3) wfEa s = (4) | gefr =g
Revenue expenditure is intended tc benefit :

(1) Past period (2) Future period

(3) Current period (4) Both {2) & (3)
HTTHEAG T TP ITATEHT € vvvecvinnennnrnnnnn % foa

(1) e (2} wfsr e

(3) =y 95 (4) (2)TF (3) AT

Any expenditure incurred in order to reduce the operating expenses
is :

{1) Promotional Expenditure

(2) Defered revenue Expenditure

(3) Revenue Expenditure

(4} Capital Expenditure

RERT =4 W B F F o e T P A B R
(1) "ae= =4 (2) w@fE e =

(3) SR =T (@) g™ 299

Premium received on issue of shares is a :

(1) Defered Capital receipt (2) Capital Receipt

(3) Revenue receipt (4) Defered revenue receipt

5 P.T.O.
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08.

09.

101-

et & Frtes o gra i @t ... i 2xdt 8 -
) R geire s oA (2) O ST /aTT
() ST AT /HT (4) T SRR ST /A
The appropriate method of depreciation to be adopted in case of live
stack is : :
(1} Retirement method (2) Depletion method
(3) Appraisal method (4) Inventory system
AEt & Heig A FE A Ioge R gt
(1) Hafagfa (8 &y (2) T Rfy
(3) Fearrairer &y 4] wny &
Which of the following entry is not recorded in ‘Journal Proper' ?
(1) Opening entry (2) Closing cntry'_
(3) Adjustment entry (4) Credit sales B
R ® & @ & AR Journal Proper’ § W Rl e ¥ 7
(1) oisEs afafte (2) gifem ufafee '
(3] HAMEEA O 4) IurT Repg

Which one of the following satisfies the accounting equation ?
(1] Assets + Liabilities = Owners' Equity

{2) Owners' Equity + Liabilities = Assets

(3) Assets = Owners' Equity |

(4) Liabilities = Owners' Equity
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12.
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Prafofaa & & @9 a1 G THEHETT B WY FEO R 7
(1) wofedr + @i = @ g9 e |

(2) @ HHaT + TiAE = waferdr

(3) waferdat = @t auan

(4) g™ = @ FEdaT

An accrued expense can best be described as an amount :
(1) Paid and currently matched with revenue

(2) Paid and not currently matched with revenue

(3} nntipaid and not currently matched with revenue

(4) not paid and currently matched with revenue

@m(accmedjmm@mm%mﬁ'wmmm
what &, o &

{1) aﬁ%waﬁmmﬁﬂﬁ@ﬁr%

12) m%maﬁmﬂwﬁﬁaﬂﬂm%
(3) araw B aar adwE e @ A TE Em #
(4) e B T qduE o & A @ )

Assets appearing in the books but having no value are known as :
(1) Wasting Assets (2) Intangible Assets

(3) Fictitious Assets (4) Current Assets

wafera, ﬁ%gmﬁﬂﬁﬁmmtmﬁwaﬁéﬁaﬁaﬁ
2, @ . . %8 o 8 |

(1) &T’Zﬁ H‘ﬂﬁﬂm (2) o ﬂuﬁ‘a'm

(3) AR EafeTar 4) =g\

7 P.T.O.
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13.

14.

16.

What is the amount of purchase when :

opening stock = 3500 ¥; closing stock = 1500 ¥; cost of goods role =
22000 ¥

T B TR g9 3R, 99 _
Ui W% = 3500 ¥ St wms = 1500 ¢, e aggsit #
@APTE = 22000 ¥

(1) 200003 (2) 24000% (3} 23500% (4) 25500 T

Which of the following accounts would not have zero balance after
closing entires have been ported ?

(1) [Interest payable (2) Interest paid
(3) Salaries paid (4] Rent received *

At ufafteaf =5 qifieT w2 39 & g fSeisieg § O By g
# gy 9 = A ?

(1) 29 == o (2) = =T

(3) &= AT (4} ure fehaar

A and B are share profits and losses in the ratio of 4:3. they admit c
and the new profit sharing ratinis 3: 3: 2. If C pays Rs. 7000 to words
goodwill, A will get :

31 ol @ 4:3% S § are-wl w5 AaeE w5 ¥ g | g
et R ofir =31 e R srgaa 3:3: 28 1 ® Tnf % R
7000 Ho H YA FIAT 8, T A B T e &9

(1) ¥ 3000 (2] ¥5300 (3) ¥ 4000 (4) ¥ 7000



16.

17.

13-

14P/201/5(1)

If goodwill account is raised at its full value in the books at the time of
retirement is to be written off, then the capital accounts of remaining
partners are debited in :

(1) Gaining ratio (2) Capital ratic
(3) Oid profit sharing ratio (4) New profit sharing ratic

TF WIEEN F SdeT JEV & §9G aft e @ & I8s A I8
# R gev § amn omn B, o S® ofRew w1 # R 9w
et & 9o @t A e 7 SRIT R S

(1) T HATIE (2) Yo ST

(3) GUFT W RN ou  (4) AT ATHSIOTT ST

Adjusting for drawings ¥ 2000 and his share in profits ¥ 1000, is
Z 10000. Interest on capital payable to him at 5% per annum on the
opening balance is :

{1) 350% (2) 450¢% [3) 500% (4) 550%

ueE WEETC gt @@ & 2000 ¥ & AETn oF @ & ) @50 1000
? gEMETTT S 3 O o @ o ¥ 10000 ¥ H1 A9 9r) g @@
B oS 9V 9 5% W T R 3T A H A cvsmvs WA 2

(1) 350% (2] 450% (3) 500% (4 550%

At the time of admission of a new partner revaluation of assets and
liabilities is to be made for the benefit of :

(1) old partners

(2) new partners
(3) mutual benefit of old and new partners

(4) old partners who are sacrificing

9 P.T.O.
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19.

%ﬁﬂﬁﬂﬂ%n&mﬁmmqﬁuﬂﬁrmm
............ & mw & Rrg s o ¥

(1) S WY

(2) Y ‘AT

() T @@ T "RE & arealis A @ R
(4) gUH wrrEre o wm owmT @ B

In case of insolvency of a partner any balance in reserve fund a/c is
distributed to all the partners

(1] In the ratio of fixed capitals

(2) In the ratio of fluctuating capitals
(3} In the profit sharing ratio

(4} Equally

TF URE ® Refygr 8 3 fufy & SR wiw @ ool
a7 dfer oo ¥

(1) Fear goft & orqamey #

(2) ofterlRe goft & orpme §
(3) FrA-Rram s #

{4) FT(WT

Provision for bad debts appearing at the time of dissolution of firm ia |
transierred to : . i

(1) Sundry debtors a/c (2) Reslization a/c
(3) General Reserve a/c {4) Partners Current Accounts.

10
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wmm%m%mmﬂmw-ﬁa
S H T w eEaiRg B wer ¥ 0

(1) Ty 3= @ = (2) Y @+

@) W e wml $r (4) wEER & 9 ey

Which among the following is a chartered c;ompany
(1} Standard chartered Bank
(2) East India Company

2 b
 (3) The Institute of Chartered Accountants of India

(4) Coal India Limited -

% § A o ards o k7
(1} wvzd geE Ip

(2) %= givEar =

(3) aa@t{cmaﬁsmﬁzmm
(4) = ghrsar fee

Which one is not true about "Sweat Equity Shares” ?
(1) Itis a consideration ather than cash .
(2) It is always priced higher than the market pnu:
(3} Itis provided to obtain technical know-how

{4) It can be issued after one year of commencement of Business
F A FAT T AN B wEw H oae R 7

(1} TTH=E & AAET F JIT

(2) € FH R TH B HIT B ¥ |

(3) wifafeep ST ST F &Y Rar owen &

4) wwwﬁ%mﬂmmﬁﬂmmﬁl

11 P.T.0.
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23.

24,

a8.

Security Premium Account cannot be used for :
(1) Issuing Bonus shares

(2) Writing off of prelimin&ry expenses

{3} Buyback of shares

{4) Handling expenses on share allotment

aferafer sfirmeg @ w1 wA frad Rio wEl R o wear B
(1) ==| ofer. Fbra

(2) "RPE =4t & AqeE

(3) AT W/ F9H FH _

(4) oAElEs gy BfveReit & & R

Which is not related to capital profit/loss ?

(1) Capital Reserve (2) General Reserve

(3) Share forfeiture (4) Development rebate A/c
Eﬁﬁaﬁ?mﬁmiﬁﬁmmﬁmﬁuﬁﬂﬁ%?
{1y oo 997 (2) WM™ =g

(3) afar B ' (4) TE gz

From the point of view of transferability, which onc is the best
instrument ?

(1) Account Payee cheque (2) Bearer Debenture
(3) Bills Receivables (4) Bonds

12
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BT B e § §99 § A9 G 799 oF=07 OuT ¥ 7
(1) ¥=EifFa o (2) JEH O
(3) = &= ' (4) dfog

"Loss en issue of Debentures' and "Discount on issue of Debentures”
are respectively : '

(1) Revenue loss and capital loss
(2) Capital loss and Revenue loss
(3) Both are Revenue loss

{4) Beth are capital loss

mﬁ%ﬁfﬁmﬂaﬁmﬂaﬂw%(m}?
(1) g i od O '

(2) Yo B ud ST s

(3) =T AT '

(4) 1 Goirra &ifw

Payment of Debentures by instalments means :

(1) Timely payment of interest on debentures

(2} Acquiring / purchasinr of debentures on instalments
(3) Writing off the expenses on debentures

(4) Redemption of debentures

et &I SOl W YR | @ 7
(1) SH9Al 9T =9 H1 @59 @ G
(2) FOTIHAl F R 9T HY

{3) =OTYHEl & 4 #F SIrE

(4) OraHT F g

13 : P.T.O.
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28. Consider theé following Journal entry/entries :
Old Debenture A/c Dr
Discount on issue of ahameeEentures Ajc Dr
To share capital / Debentures A/c
To premium on issue of share/Debentures A/c
In what circumstances, the above entry/entries may bé phssed ?
(1) Issuing a fresh lot of debentures
(2] Simple Redemption
(3} Redemption by conversion
{4) Both 1 &2

Rreyfofare ot maRedt @) Rea omer ¥ -

qIET MM 9N @ | A
FHAA 9T FHerven W A 9w
Ol /A SO ST ST

A AT qF o9 afvgw gy Pl o
forer & & P Reafy ¥ S wgfee & omel 31
(1) A wrox & el d () s e o
(3) T=eTE WU g H (4) SwdEa 1o 2 S
29. Which method is best suitable fore redemption of debentures on a
‘specific date ? B
(1} Issuing shares against debentures
(2) Providing sinking fund '
(3) Buyback of debentures
(4) Creating provisions for redemption

14
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o e Reis # worgst
. wmmﬁtgmlmmaﬁgﬁ

(1) ReT9St & wEd & oinf & Ry
(2) RifdT ooz @y

(3} U FOTGE! A FOT 4T

(4) e & Bre drEe wo

+ As per SEBI, the right issue should be kept open for more than ......

days. _
(1) 30 2) 45 3 60 14’]'90

W B SR, mhﬂﬂmm“ﬁmmaﬂm
(1) 3of= @ 45RFw  (3) eofw (4 90T

Issue of ....... reduces EPS (Earning Per ahare} but doesn't a&'cct the
share capltal .

{1} Redeemable Preference share

(2] non-convertable irredeemable preference share

(3) Bonus share | ' 3

(4) Convertable preference share
'ﬁlﬁﬁﬁmﬁa‘ﬁfﬁ?ﬁ@ﬁma (nﬁrama:rrq)m 2 tnﬁa#ﬂ
il ¥ 1% ww T# gsen ¥ § 5l

(1) sia=g qaifeesT ol

(2} SfEaEg ey g gaiReE s

(3} aAE 3w

(4) uREedia gaffeere s

18 P.T.O.
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32.

33.

‘Which of the following formats has not been prescribed by the

companies Act, 1956 ?

(1) Balance sheet

(2) Profit a;:d loss A/c

(3) Statement of affaires of a company
(4) Cash flow statement

Prey & @ o &1 oo w1056 3 Rk TE ¥
(1) onfefE ferga |

(2) wTH-EF @R

(3) WeHz J1F orHaT s Hra

(4) «aTgEl fae

The General Intention behind keeping seevet reserve is ?
{1} To fight uncertain future '

(2) Showing better position than actual

(3) Showing worse pasition than actual

(4) Supression of material facts to avoid tax

T WO @A $ N8 Hedl AW AT 9T w1 IR e ¥ 7
(1) =T wesy | |« FET

(2) oo Refy & saRe Refy § orear R

@) oo feafy H avalds Rufy & @ow Remn

(4) TNT qo T WAt HT S =98 HE

16
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According to the companies Act 1956, where the dividend proposed
exceeds 12.5% but does not exceed 15% of the paid up capital, the
amount to be transferred to the researves shall be not less than ..........

% of current profits.

T A 1956 % STgER @Ew 5 9 e e 12.5%
& arftrn ofT 15% & 9 89 &1 3n & dwg, adwe s B R
T EenTeT B ¥ 7

(1} 2.5% 2) 5% 3] 7.5% (4) 10%

In the event of preparing profit and Loss Appropriation A/c. Income
Tax on profit through an appropriation of profit is treated as

(1) Expense (2) Asset

(3) Liability {(4) Adjustment

ATT-EIT AETESTT W R §W @Y 97 ST, R
i AR s & ?

(1) =4 (2) Hfta

(3) rfae (4) TEENT

Surplus is equal to :

(1) Royalty + Minimum Rent
(2) Royalty - Minimum Rent
(3) Minimum Rent - Royalty

(4) Minimum Rent - Shortworkings

17 P.T.O.
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37.

38.

39.

e qOET BT 8

(1) mﬁm;r{glq—eﬁ+=g\=|ﬁ=r\m
(2) BT geF - ~gHew B
(3) gAE fRTE - SRR O
(4) e ReTar - wgwE

At the time of closing the Books Royalty Account is transferred to :

(1) Balance sheet (2} Profit and Loss account

(3) Production account (4) Manufacturing Account
ARERR-EE G F TR o5 B § g o @
(1} onfds fRred d 2) ww-gr =@ &

(3) I@rET '@ (4) Pl o &

On the seizer of the goods by the hire-vandors the balance in the
asset account is transferred by the hire- buyer to :

(1) Goods Returned Afc (2) Profit & loss Afc

(3) Hire- Vendor's A/e (4) Stock Afc

Rerr-RdaT & AT & ol qv Tt e B A9 & Sar &
geararea Rear amar ¥

1) = aad o # (2) wms-wT @ #

(3) Rrrar-Repar & @t # (4) veform = o

In case of [nstalment Payment system the balance in Interest suspense
account in the books of buyer is shown on the :

(1) Debit side of P/L A/c

(2) Credit side of P/L Afc

(2) Assets sidc of balance sheet

(4) Liahilities side of balance sheet

18
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%ﬁwmﬁfaﬁwnﬁmm@%%ﬁwﬁﬁmaﬁ
geat 7 Ragrar orer ¥

(1) -2 @ & e ger #
(2} TH-B8 & B #feT gy §
(3) onidls Ryed 3 wfen g §
(4) onffem Ryed & aiftmr ow &

Branch Account under debtor systems is :
(1] Real:Account (2) Personal Account
(3] Nominal Account (4) Capital Account

(1) ardfges @ (2) @PRTT @
(3) ATHHEE Grer 1) Toft e '

If opening or closing balance of debtors of & branch is not given, it will
be found by preparing :

{I)- Branch Account

(2] Branch stock Account

(3) Branch Debtors Account

(4) Branch Adjustment Account

af By @ urfes ar @few Sy F RBar e &, & Iaa s
FY 2g ¥ATC F AW

(1) rEr Qe (2) STEr T =

{3) SRl IAEL G (4) STET GHARGSE @l

19 P.T.O.
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42. In which city amongst the fallowin_g, Presidencyltowna Insclvency Act
1909 does not apply ?

(1) Chennai ‘ (2} Delhi
(3} Kolkata (4) Mumbai

Freifpr & & Prg g § SRR oo Raiear sfEfaam, 1909
@] FE} Brem 7

{1) ==1§ | (2) e

(3) FIeTERT 4) T=d
43. List G of the statement of Affairs is related to :

(1) Book Debts (2} Bills of Exchange

(3) Property (4) Preferential Creditors

ferfy-fomeor 9 = S e ¥

(1) @R 2y Fafrg o

3) Tk (4) gaEiftERR A=
44. Demand deposits are shown by the bank in the :

(1) Schedule 03 (2} Schedule 04

(3) Schedule 05 (4} Schedute 06

| g = ¥z anfar s B

(1) SrIgEt c3 # (2) AggHEt 04 &

(3) ST 053 (4) g 06

20
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The subscribed capita? of a Banking company should not be less than
the following percentage of its authorized capital :

%mﬁﬁmﬁa?ﬁmmﬁ%ﬁwﬁﬁﬁmﬁ

# H9 E & =nfew -
1) 30% (2} 50% (3) 70% (4) 90%

XYZ Ltd. Has Current Ratio of 1.5:1 and Net Current Assets of
T 6,00,000 . Calculate current Assets :

XYZ Ltd. 1 =g 79 1.5; 1mg;aa1qawﬁ‘ﬂrﬁ,oouooﬂ¥r%
TOFT A AR TR Bl |

{1) ¥ 12,00,000 {2) T 18,00,000

(3) ¥ 15,00,000 (4} T 24,00,000

The ratio of debt to total assets of a company is 0.2. The debt to
Equity Ratio would be :

FOT A FA WA H AGIT 0.2 & | A O FHAOT STHIE BT
(1) 0.025 (2} 1.00 (3) 0.80 (4) 025

Axis Limited has a Debt Equity Ratic of 2.8 where as the Industry

average is 2. [t means that the company has :
(1) Higher Capital employed {2) Higher Profitability
(3) Higher Liquidity (4) Higher Financial Risk

21 ' P.T.O.



14P/201/6{i)

49.

50.

qﬁﬂsﬁ.aﬂmmmﬁmﬂz.stﬁsﬂmﬁmﬁﬁ
ﬁmmz%wﬁm%%mﬁaﬁﬁuﬁ;_
(1) Har o A (2) St S ETEr
(3) S aEemEr | (4) e Refig ReH

4
ABC Ltd. has earned 8% return on total assets of ¥ 40,00,000 and
has a net profit of 10%. Find out the sales of the firm ©

(1) ¥ 32 Lakhs (2) ¥ 40 Lakhs
(3) %16 Lakhs (@) ¥ 3.2 Lakhs

-Haaﬁn@awﬁﬁ_! 40,00,000 9% 8% HI Y FG HTT & I
TR wE AT 10% B o 8 Rl A el sa w

(1] T 3291\ @ Taoww
@3y T 16 @ 4 T 3.2 90

A company has cash sales ¥ 80,000, credit sales ¥ 2,20,000 opening
stack 2 25,000, closing stock ¥ 10,000 more than opening stock and
Gross Profit Ratio of 25% calculate inventory Turnover Ratio

(1) 7.5 times (2) 7.05 times
(3) 8.5 times (4} 7.25 times

o AT @l R fEEnt € 80,000 T SUTX ﬁﬁ?( 4 52.20,000%
qrefass weREr 225,000, Sy Tefgy T 10,000 o @l

T B qR A AW SO 25% 6 AT ST H T
I |

(1) 7.5 (2} 7.05 7
(3) 8.57AT (4) 7.25 AT

23
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The most rigorous test of liquidity is :

(I) working capital Ratio {2) current ratio

(3) quick ratio (4) absclute liquid ratio
T H g g€ Sty g &

(1) wrishe oft s & (2) & T J

(3) TS STgART | (4} ot axerT egare @
Which of the following in non-current liability :

(1) Creditors (2) Bank overdraft

{(3) Outstanding wages {4) Mortgage loan
Frfafe # & i i wrg afee & -

(1) SaER (2) ¥wm fufress

(3) e Hergh (4) ITGFH F

When the proprietor transfers his private building to the . business

there is :
(1) Inflow of cash ’ (2) Outflow of cash
(3) Ne flow of cash (4) change in cash

e W eae Pt e e @Y swrana wmear @
(1) THE N HA=T T8y (2) Uws = IBY FeT
(3) s =1 FE gvEg T ) Jws # afeda

a3 : P.T.O.
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54-

S55.

s&l

Which of the following is not the application of cash :
(1} Increase in outstanding expenses

(2) Increase in prepaid expenses -

(3) Increase in Inventory

(4) Increase in Bills Receivable

g § § $9 Uws @ 94T T8 ¥

(1) *&w =99t & gha (2) gE=w =4t gfx
(3] wRkA # gf= 4) m f&w # giE
Opening stock is :

(1) Source of funds (&) Applicatien of funds
(3) No flow of funds (4) fixed asset

grefewes Tefear B B

(1) = 7 (2) =T B/ TET

(3) FrH waGE TE C (4) wrdr watE

Which of the following ratios is favourable indication, if it is low ?

{1) operating profit ratio (2) fixed asset turnour ratio

(3) current asset turnour ratio (4] operating ratio

Prefiae STl & § A ot o= feafey & wefie wea @
ofy @ ey 2 ? - | | -

(1] TEET | FH ST

(2) g qfie ArEe I

(3) O wHaieT aEe SIgaE

(4) HERE STIUE
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§7. The word teeming _and lading are used :

{1) Fraud of cash

(2) Mainpulation in Accounts
(3) Fraud of goods

{4) Fraud of Labour

At qay AT = @ gE@e der ¥
(1) Ips B Mm@ & B (2) o ¥
(38 A & TEA B Ay @) R TR R Y

An audit programme will be useful if it is :

{1} Elastic (2) Inelastics
{3) Short {4) Detail
OH IPEOT HAEH A A IgEnit e oafs as ¥
(1) wEger (2) SwErEgEr
(3] wdftr 4) g
89. Vouching item is not of receipt side of cash book is :
(1) Bad debts recovered (2] Received trade discount
(3) Rent receoved (4) Income tax refund

AFsad B HIfeT 98 B THOH P AT TEt B
{1) o= F&F =T (2) AT JMH TS
(3) wer P (4) SEEHT A

28 P.T.O.
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60. Validity of payment means :

61.

63.

(1) Correct amount paid

(2) Payment to right person

(3) payments is authorized by appropriate officer
(4) Payment as per rules '

guar & dver w oo ¥

(1) @E THH W/ OGRT B

(2) wE FfRT B PRI B

3}y SR sl & sftega &
4) W FremgEr 8

Previous year and assessment year may be the same in-case of .......
(1) mcome of a non-resident from dairy

(2) income of a resident from business in & foreign country

(3) income of a resident from shipping

{4) income of a discontinued business

- N7 HT FrgiRor of wa= s X &
(1) otfyE & T & o™

(2) Fremel & PRy I § 9™

(3) Fyarl i o 9 o4

(4] W% Y Y R FH AT

X is a non-resident and received ¥ 1,50,000 form a business in Nigeria
{40% of which received in India). The amount taxable in the hands of
X in India is

(1) Nil {2) ¥ 60,000

{3) ¥ 1,50,000 (4) 90,000



63.

14P/201/5(1)

X ST ¥ i T 1,50,000 TERRET # R @ ST AT
& (THE 40% WG F o e B) | wRa # X & R Beaeh a9
BT gryg enFfy ?

(it = (2) ¥ 60,000
(3) ¥ 1,50,000 {4) T 90,000
Mr. A took loan of Rs. 4,00,000 at an interest of 10% p.a. for the

purpose of repairs relating to a house which he used for own residential
purpose. The deduction allowable to him under section 24 (3} for the
assessment year 2013-14 is ;

(1) T 40,000 - {2) Nil
(3] T 30,000 (4) ¥ 1,50,000

ﬁoqzm,mﬁmmagmﬂmaﬁmﬁmﬂa%
qOHa & R So 4,00,000, 10% SAT9 9T WOT IOT &, HTO 24(3) B
T wT i g 2014-15 ® e g9fir ong @ wEE B
R =7y Bhft -

{1) T 40,000 (2) 9

(3} T 30,000 - 4) T 1,50,000

Which one of the following receipts is taxable as 'profits in lieu of

salary' ? e

(1) Compensation received under voluntary retirement scheme

(2) Retrencl;,ment compensation

(3] Compensation received in connection with termination of
employment

(4) Compeasation reccived on account of any disaster

27 ' P.T.0.
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68.

66.

AP o A HT A ¥ Ao H WH F oA ?
(1) Yfsw {ar Pefa & ommig mx I 1 g

(2} ¥ar & PRg R oW 9 W = A e

3) Hrh & Freed W B Rew o S W e

(4) 3§ g & How W<y exfergfel A Al

T Ltd. paid T 1,00,000 to the 8], Kelkata for research in social science,
The allowable deduction under section 35 is ...........}

qrfos e av sty 89 & e ¥ 1,00,000 F g AE. OF.
Tk, mﬁwwhﬁmﬁrmﬁwmssﬁ
I ARG E T

(1) ¥ 2,00,000 2y 2 1,75,000
(3} ¥ 1,00,000 (4) ¥ 1,25,000

In which case is the capital gain taxable in a year other than the year
of transfer ? i

(1) insurance claim received on destruction of capital assets

(2) transfer of listed shares

(3} conversion of stock into capital assets

(4) both1land3

Frea & & e $oirmr o e a8 B B ad # g8 s
PR ow A & o= AW o

(1) Fofrer wfa &1ty or 9 @3 & o g
(2) GEEE He § TR 9T

(3) Twierr & iRy wERh ¥ s

(4) 13T 3=+



14P/201/5(4)

67. Which of the following transactions is not an exempted transaction ?

(1) transfer of capital asset in a scheme of amalgamation
{2) transfer of capital asset in a scheme of demerger -

(3) transfer of Tenancy right

(4) transfer under gift or will

Frfifee & @7 &1 39 39 o sy Samomt a9 3 R 7
{1} TR # g § $oft @ ewaror

(2) o A g & gl @ swaney

(3) wRTRrFT ST HT EFRTI

(4) e ar Syevor ar=riag ST

100 Bonus shares were allotted on 7.8.78 (fair market value on 7.8.78 :
¥ 30 per share fair; market value on 1.4.81: ¥ 62 per share). All the

-Bonus shares were sold during 2012-13. The cost of acquisition of

such share ............... _
(1} ¥ 3,000 (2) Nil
(3) ¥6,200 {4y T 3,200

Reit® 7.8.78 & 100 99\ W oefed FRaT W (Rrasr R
7.8.78 I greiash arAT g T 30 Uiy ader v a9t 1.4.81 % T 62
afer Fer afEe ST g )

At G99 A9 a9 2012-13F 0 I W F IF AT F FH AT
2hl

(t) ¥ 3,000 (2)

(3] % 6,200 - (4) T 3,200

29 P.T.O,
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69. The standard time required per unit of a product is 20 minutes. In a

70.

71,

8 hour day, a worker produces 30 units. If he gets astime rate of
Rs. 20, his earnings under the Halsey scheme i8 ...

wﬁz%ﬁfﬂwﬁmﬁm%mwﬁmmaﬁ%ﬁﬂ
2 g ¥ mE FHETR @R 30 T Ik # el ¥ ) A T8 W
X 6o m.aomm%ﬁtam%m%ﬁm_m%:

(1) T 160 (2y 180 (3) ¥ 190 (4y T 200

; -
If the actual output is lower than the budgeted output. Which one of
the following costs is expected to be lower than in the budget ?

(1] Fixed costs per unit {2) Variable cnsts per unit

(3) Total fixed costs (4) Totalvariabié:costs
Jii

At W SETEEET & areiae Saeme A ¥ Fe @ Be e
gore ¥ g9 8 Hepl & 7

(1} Tt @ gfa gfse

(2) uREdssfie @ g g

(3) & f=rt arE |

(4) % Siesie Ry

Which one of the following is not charged to factory overhead ?
(1) costs of service departments
(2) costs of maintenance departments

(3) costs of marketing departments

" {4} factory depreciation and supplies

30
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14P/201/5(1)

Fe1 & & & searn soRerm & aftwfe w8 2 o & 7
(1) &ar frerr & s (2) - ST fEarT &t ar
(3) Rerg Bwm 2t ey (4) TG 16 oE Sy

The appropriate base for assigning overhead is production unit when

(1) only one product is manufactured
(2) several well differentiated products are manufactured -
(3} the manufactaring process is complex

- (4) the d'irect labour costs are low

mﬁmﬁ?%aeaﬁ%gmﬁaqh?mgﬁw%m
(1) 19 Fae o IE & Prafor @ &

(2) ﬁhﬁﬁﬁ%@qﬁﬂﬁﬁmﬁﬁﬁammﬁﬁr
(3) P aftrr sife &

4) Wt FAgh v = a

Fixed costs are conveniently deemed to be ..............:

{1} constant in total when production volume changes
(2) outside the control of the management

(3) constant per unit of output

{4) these unaffected by inflation

fear are st & Rerh ? o

(1) IS o= qiREEda 29 9v ft 9 & Ruw &
2) == & Fra=or § g o8

(3) gfr gffre % SwrEe 93 §w R

(4) T g1 g 7 e wd R

31 P.T.O.
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74.

8.

76.

Which one of the following costing methoda is widely used in internal
reporting ? ! '

(1} Absorption costing ~ {2) Direct costing

(3) Marginal costing {4) Standard costing
ﬁﬂﬁﬂmwmmmﬂmwﬁn@ﬁﬁm
2 ?

(1) STIEYTT WPRY (2) SO AR

(3) dmrea W (4) W9 WY

A company has sales of L4 2,0&,000 with varia:léié expenses of
¥ 1,50,000. What shouid be the increase in roles in'order to achieve
an operating income of 10% on sales ? "

o R T 2,00,000 F el R ¥ Rreew wRerdweie =@

nsooaawtaﬁmmmmmmm
AT e 5 10% % 9 -

(1} ¥ 2,00,000 @ ¥2,31,000
3y ¥2,51,000 (4) ¥ 4,00,000

Partnership firm is set-up for the purpose of :
(1} Promoting public health and welfare

(2) Running a business

(3) Protecting environment

(4) Preserving forest

3a
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| T wH S @ Igiv B

77.

78,

79.

(13 mamqﬁﬂﬂm%ﬂaﬂa%g
(2) =HFEE HEwE 2
(3) TafERer "we ¥y
(4) T B HEOT Bg

Which of the following is related to partnership ?

(1) Mutual agency (2) Common seal

{3) Direct motivatinn_ (4) Perpetual succession
Frafoftry. & & o9 @ adard § wafar & 2

(1) TR ST (2) |EFE

(3) srweT SAREITOT (4) MIET SR
Mde unidn is a form of |

(1) Fededdation (2) Pool

(3) Association (4} Merger
e e e

(1) EEFT FH | (2) 9 W

(3} @I F (4) fawa @

Pool came into being in :

(1) USA (2} Japan
. (3) Germany (4} England

33 P.T.O.
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80.

8i.

ge & OT &S ¢

() 9.9 Q. # (2) s &

(3) o # (4) ¥dvs H

Cartel is combination of :

{1) Distributors (2) Wholesalers

(3} Retailers _ (4) Producers

IqE H@Y o g ¥

(1) Prerest o (2) 4G sgaanaar
(3) I =Rt H 4) e @
Which of the following is a feature of organisation structure ?
(1) An act of selection (2) Pyramidic in form
(3) A mental process (4) A psychological process

ﬁﬂmﬂﬂﬂmmﬂmﬂmwmﬁi?
(1) w4 % TF AT A (2) Trufag & R W

(3) TR WS Afear @l (4) TH FAREETE ARGAT T
Which of the following is not related to functional organisation ?
(1) Gang Boss (2) Speed Boss

(3} Repair Boss | (4) Time Boss

Prafaftag 3 ¥ 9 a1 waimE g1 | gty i k¢
1y M Ay (2) wi= "

(3) TOOT &I (4) =TI AoE

34



14P/201/5(1)

83. Who has classified management functions into five parts 7

(1) Henri Fayol ' (2) F.W.Taylor

(3) George R- Terry | (4) Luther Gulick
SR R A ReeR dfer et & affga e R 2
(1) T8 Bdrr X (2} .z, e A
(@) =Y &, 26 ¥ (4) g g A

84. Who is rgsponsibie for performing the planning function of
management ?

(1) Share holders (2) Managers

{3) Worlccrs '{4) Outsiders
m%mﬂmﬁ{nmﬁ%m%ﬁm??
(1) STH : (2) SEFEE
(3) AT, (4) wred =iy

85. Which of fi';;_i'ﬁtloﬁng is an element of planning ?
(1) Guid.i,ﬁgj _ (2) Reporting
(3) Policy :. (4] Selection

ﬁrqﬁ]ﬁaﬁﬁ&ﬁﬂmﬁﬁmmrwaﬁ%?
(1} mriEs (2) sfvEEs
(3) Y | (4) =99

3s ‘ P.T.O.
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86. Who has said, "planning is fundamentally choosing’ ?

87.

(1) Billy E. Goetz @)
(3) Mc Farland (4)
PR HaT i gEe: g 8 7
1) Pl €. Maew (2)
(3) T TS (4}

Organisation does not ihcludc -
{1) Division of work {2)

(3) Sources of authority (4)

HSH GRIRT Ad FHTAT & ¢

F.W. Taylor
Earl Strong

T, &Y TN
FH T

Group of indivduals

Formulation of budget

it 1 e
gore o gy

The principle of receiving orders from one superior is termed as the

(1} & H E¥Ee= ()
(3) oifermTdt T ST (4)
principle of :

{1} Unity of command (2)
(3) Functional definition (4}

Unity of diréction

Span of mahagement

et gl § wre Hew Ry weomr ¥

(1) ARYT &Y THAT AT 12}
(3) . praferes uftssr @& )

Frder ot gwar =
o & R &



89.

91.

14P/201/5(1)

Decision making theory of organisation has been propounded by :

(1) Rensis Likert [_2) . Chris Argyris

(3} Herbert A. Simon {4) Henri Fayoi

T W Pt Rrare sfyaie R R

{1y aE TEwd g (2) W FTMARE FTT
(3) BEE 4. W EWT (4) BTH oz
Staffing is an act of :

(1) Matching the people with jobs

(2} Matching the people with planning
(3) Controlling the people

(4) Motivating the peaple

Wit us & ¥ -

(1) =t = @1 & | B s
(2) i PR g e s
(3} @ At P wten

(4) ¥ F e W

The process of coming to a conclusion is related to :

(1) Planning {(2) Organising
(3) Directing (4} Decision making
frepe 97 9= @ afw wafae B

(1}. P | (2) €= A

(3) s | (4) fofas 9

37 P.T.0.
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93!

Organising includes :
(1) Issuing orders y (2) Counselling
{3) Supervising (4) Granting authority
wre & afafme ¥ |
(1) ondsit = fte (2) waAst T
(3) TEART HLAT 4y aAfeET AT
. Which of the following is a principle of directing ?

o4,

(1] Principle of managerial appraisal
(2) principle of management development
(3) principle of job definition '

{4) principle of managerial mm.municatinnl

Brefafas & & @ & P& @ e &7
[1]' T T R

2) e RepE @ fawra

@) F qfrenT @ T

(4) T e & R

The process of control does not consist of :
(1) Measurement of perfnrr‘nan.ce

(2} Detection of deviation

(3) Establishment of standards

(4) Break-even point analysis

38
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ﬁﬁwm&aﬁ@m%: |
(1) *& & gEiwT 2} Rraee @ o
(3] AE T =R Fr (4) T9-Rredy Ry Rsdor

» Non-budgetary control technique includes :

(1) Audit (2) Statisticaldata
{(3) Break even point analysis (4) All of the above

ﬂtaﬂ!ﬁqﬁﬂaﬁaﬂ;ﬁmﬂﬂﬁq%ﬁaz
(1) e ' (2) Wik 9%
(3) wa-fredw fog Rediwr (4 agde @

A void agreement is one which is :

(1] Valid but not enforceable

(2) Eniorceable at the option of both the parties
{3) Enforceable at the option of one party

(4) Not enforceable in a court of lJaw

OF g FOT qE ¥ A1 o
(1) R ? oty g 9d B

(2) A & wEERt & v o gadeg
(3) TOF THIC B Bwey 9T gadeg ¥
(4) Rftms <o # seebhg o &

39 P.T.O.
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97.

98.

Cash withdrawn by a customer of a bank from the automatic teller
mechine (A.T.M.) is an example of :

(1) Express contract ' (2) Voidcontract
(3} Tacit contract (4} Illegal contract

e 2o wel (TAE.) ¥ ¥ & o e J4 PR
e T, SRR B |

(1) oferere giem & (2) A HiaEr &
(3) HW wiET &5 (4 fafamr @R &

A promises to pay to B Rs. 1000 if B's house is burnt. Thisisa:

(1) Contingent bontract (2) Uncertain contract

(3) Wagering contract (4) Enfomcab]t:lmntrﬁct

g & FEE A W W 9 o, ® F 1000 Fo HEF HIA W FIAT
T &, 9% B

(1) S S

(2) SfyEa Hiemr |

(3) UgEH HOT A7 AR S R

(4) Had=g GEE

. When two parties exchange identical offers in ignorance of each other's

offer, the offers are calted :
(1) Cross offers {2} Counter offers

(3) Standing offers (4) Invitation to an offer

40
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aaﬁww@aﬁmﬁtﬁrﬁﬁmmﬁmﬁzﬁ;%ﬁnﬂaﬂ%
g a1 W TR % ovT peemd ¥ o

(1) =9 e (2) oy seg
(3) & geaE (4) "X HT HATHFOT

100.A new partner can be admitted in the firm with the consent of :

101.

(1) All of the firm's partners

(2) Simple majority of the partners of the firm
(3) Spécial majority of the partners of the firm
(4) New partners only

BH # Qe AT AR |t fear o weear ¥ -
(1) & & af wriRt o geafr &)

@) @ & wrierdt & wee agE s weR |
(@) wH F wrllard % Bew sgaa & genf |
(4) Fod T wWEERT & deAfy §

A and B agree to work together as goldsmith but A shall receive all
profits and shall pay wages to B. The relation between A and B is as

Cof:

(1} Partners (2) Goldsmith
(3) Labourers (4) Master-Servant

A AT T AT & G F1E FA H HUL HQ & TG F G4 a9
S FHEM AR F H HaeT 950 M) H W T B 097 §=9 €
(1) «rierd & ' (2} I &

@) «ffw & | (4) =ifers T AwT &

41 P.T.O.
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102. Which of the following statements about implied autharity of a partner

is trae ?

(1)

(2)

(3)-

(4)

(1)

(2)
(3)
(4)

A partner in a firm of commercial nature may pledge the
partnership property

A partner may acquire immoveable propérty on behalf of the

firm

A partner may enter into partnership on behalf of the firm

A partner may transfer immoveakle property Belonging to the
firm

gl @ FEltg ot & s d Peffgg F @ @ @
T el & 7 |

i R @ o # o ariere, weferdt evafen R
g HqEl @ |

wd F e o wrlise o |vafy WTeT Y OeRaT B
wd § forg fpdl ot wnferd o & el a9 g &
wﬁﬂﬂaﬁmw.ﬁwﬁaﬁmmmtl

103. Which one of the following statement is correct ?

(1)
{2)
(3)
(4)

Agreement to sale is executory contract
Arteement to sale is executed contract
Agreement to sale is both executed and executory contract

Agreement to sale is not an executed or executory contract

42



14P/201/5(i)

e A A P T sar ad@l & 7

(1) Tospg = =T wp e w5fyey B

(2) Fspg =1 v Fenfew dfier &

(3} e &1 A PR o Premer dfrer @1 &%

(4) Torra @ T FonRe o Freae 51 & g &t dfe T8 R

104.Which of the following is not an implied condition in a contract of
sale ?

(1) Condition as to description
(2) Condition as to sample
(3) Condition as to undisturbed Possession

{4} Cond-ition as to wholesemeness
o ey 2 s § Prafofag @ @ o fafee od @t & 7
(1) Tt & sgar ot

(2) A W STIEIC
(3) foaiy we B srgEC O
(4) TETET UET # SIEIT 9

108, The sale of Goods Act, 1930 deals with :

(1} sale (2) . Mortgage
(3) Pledge (4) Lease
we feepg stfafegwe, 1930 ==t & 8

(1) Fspa 93 (2) o7& UT
(3) fredt 9T (4) 92 9T

43 - P.T.0.
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106.In an auction sale the property shall be_ sold to the :
(1) Lowest bidder ' (2) Highest bidder
(3) All bidders (4) Not to any body

Pz e o el @ SRR
(1) T8 HH Gl T A

(2) |y @ DA TR TR OB
@) | a9t T gt ®

(4) Feedr & <t Tl
107.An instrument in writing containing an unconditional order signed
by the maker is called :
{t) Cheque (2) Bill of Exchange
3) LO.U. y {4) promissory note

e foiee e P Rem o onder Rrsaees & sanaiE &
(1) =% Hzemar & | |

2) Tafma o= Faemer &

(3) o wephr un (o1 .af.g.) wewar @

(4) O GH HETAr 8

108.A person who receives a negotiable iustrument in good faith and for
valuable consideration is known as ;

(1) Holder (2) Halder for value
(3) Holder in due course (4) Helder in right

44
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Waﬁﬁﬁﬁﬁ'ﬁﬂaﬁw@ﬂ@aﬁﬁcﬁawmm
I FAT B, FE FHEAET B

(1) ¥R (2) TFma™ 9Res
(3 % JIFH 4w 4} e ans

109.A promissory note drawn jointly by X, a minor and y, a major is :
(1) Void
(2} Valid but not negotiable
(3) Valid but can be enforced anly against Y
{4) Can be enforced against only X

T T O o P g9 w9 @ X & o oF oluges B e
Y Sl ggEs & @y Rrar T e

(1) 3= &mar 2

(2) ¥g B Ry HAIGHFT B

(3 A9 ¥, Wy O Baw v D Ul writTe B oM T B
(4) Faw X & 9fy & wwaitaa B o g@war B

110.Contracts entered into by a company before its incorporation. are
called :

(1) Provisionai Contract
{2) Preliminary contract
(3) Pre-incorporation contract

{4) Provisional and preliminary contract

45 P.T.O.
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Qﬂiiﬁﬂ?ﬁmﬁﬂﬂﬂ%gﬁﬂﬁﬂ%ﬁﬁﬂﬁmﬁ%
(1) owifem dfeEd '
(2) TN g

(3) Prrw & g @ diEd

(4) ot ol s wiEE

111. Who has said, "A banker is a dealer in debts-his own and other people”?
{1} Horace white (2) Crowther
(3) Findlay Shirras (4) Sayers
Pray e 8, “uF ¥ g o7 ot SRl & el 1 O SI
T 87 7 s
(1) 8T @Ee (2} ST
(3) THusd farery (4) et

112. When of the following is the oldest Gold standard ?
(1) Gold Exchange Standard  (2) Gold Bullion Standard
(3) Gold Currency Standard (4) Gold Reserve Standard

Rreifefis & & #F @ qud IO @EiNE §
(1) o A (2) ol gga=
(3) w@el FREE - (4) w@of Ffewe

113.'RTGS' stands for:
(1) Real Time Gross settlement system
(2) Regionat Teller Google settlement system
(3) Rapid Time Gross scttiement system
(4] Real Teller Google settlement system

46
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. oAl ow. F e 2

(1} OT9 oW T Afree finey
(2) To9a IR T Afeerdte Ryees
(3l W= I=H I Aftedie Ry
(@) BT - Aot R

114. Exchange Equalisation Funds were established under which form of
Gald standard :

{1} Gold Bullion standard (2) Gold Exchange standard

(3) Gold Parity standard ' _(41 Giold Feseree smridard
F&ﬁqﬂmﬁﬁaﬁwaﬁsﬁaﬁmw&ﬁmwﬁﬂﬁﬂé
a - _

(1) @ agE= (2) w&f RAfraams

(3) I "AHATHTY 14y wor Fferas

118. 'Actnal Money' is also called as :

{1) Unit of Account - {2) Unit of cﬁrrency

(3) Commodity money (4} Representative money
‘qreEtas gE F o e ¥ .

(1) PEm = g (2) = B g

(3) ==y HAT {4) wfafafer gar
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116, The basic difference between overdraft and cash credit is :

(1)

(2)

(3]
(4)

Overdraft is a temporary facility whereas cash credit is relatively

a longer run facility

Overdraft is a permanent arrangement whereas cash credit is a
short term temporary arrangement

Overdraft and cash credit is same

Overdraft is allowed against negotiable security whereas cash
credit is advanced against fixed assets

ARy awr T | & gE e o ¥

(1)

(@)
(3}
(4)

sfuferd oreardl ghm ¥ wafs wEE WTE STOERGE O
fiferei= giaem B 2 |
mﬁﬁﬂwﬁm%mmmmﬁwﬁl
st o W GrE OF ) qEE saedr ¥

arfrres BT g & s oT f ol & oeids e 1=
=l Tl @ emwe T fF S B

117. The Issue of currency notes by the R.B.L is :

(1)
(2)
(3)
(4)

Proportional Reserve system
Minimum Reserve system
Fited reserve system

Maximum Reserve system

AT fod &5 & e e 6 o= 8

{1)
(3)

TaIfaes Y g (2) TATH P qHET
Fifg=er @ gEi (4) orfimaw Y g&f™
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118. The objective of IFC is :

(1)

(2)
(3)
(4)

Encourage private enterprise

co- ordinate capital with management
Encourage Foreign Investment

All the above

ST B frmr o a3 1
(1) Freft Sem &t deames 397

(2)
(3)
(4)

i‘xﬁmmﬁqﬁﬁm.

sl gofr =+ sieges 3

IUF g

119. The world Bank Group consists of the following institutions

(1)
(2)
(3)
(4}

[BRD, IDA and IFC

IDA and IFC

IDA, IFC and MIGA (Mulﬁ]afera] investment Guarantee Agency)
IBRD, IDA, IFC and MIGA [Multﬂatera,l Investment Guarantee
Agency}

fava % g & Fr=fofan Gt s qaag @

(2}
(2)
(3)
{4)

IBRD, IDA 9T [FC
IDA &7 IFC

IDA, IFC 8T MIGA @ETeT faffrd et sifdmen
IBRD, DA, IFC 79T MIGA (Sg9sii R mddt sif¥eroon
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120, Make correct pairs :
(1) World Bank (a} Inrestment in Industries
(2) IDA | (b) Loan for Development
(3] IFC a (c) Long term Concessional
Loans
(1) bk 2(ck 3(a) {2) 1{a); 2{c); 3(»)
(3) 1(c); 2(b); 3(a) (4)  1{a); 2(b); 3(c)
HEl E'ﬂi e
(1} fasa ¥ (a) TERMH & RfFrERT
2y o &, Q. (b) Repra & fom swoT
3) og. Tw. H. (2) _ﬁﬁﬁrﬁ\'-t Frameft T
(1) 1(b); 2(c); 3{a) (2) 1{a); 2(c); 3(b)

(3)  Lc); 2(b); 3(a) (4) 1(a); 2(b); 3(c}

121. Monetary policy of the RBI is dencﬁbcd as the policy of :
(1) Controlled expansion (2) Expansion and growth
(3) Growth without stability (4) Cheap money policy
A o 4 A Al M @ . B AR S e
foram e & - ' '
1) Prafsm R (2) frer ot gfs
3) gfa fmr Rerem (4) T i A
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122.Bank rate is an instrument of :

(1) Accepting deposit (2) Controlling maoney
(3] Ceontrolling credit (4} Lending money
(1) -7 @t s (2} a1 R H
(3) " T Hoy (4) =9 IurT T

123, Which of the foliowing function is performed by R.B.I. ?
(1) Discounting of Bills
{2) Credit Creation
(3] Custodian of cash reserves of banks
(4) Ownsrship of other banks

= d & 99w e v Red ¥ 2R g B omar @ 7
(1) Rt =1 Age wv

(2) @E g

3) ¥t F e FEg Fw o

(4) 39 AR w1 =fng

124. A scheduled commercial bank is onc which is :
(1) Owned as a partnership firm
{2) Included in the second schedule of the RBI Act, 1934
(3) Established und;er Banking Regulation Act
(4) Subsidiary of RBI ' |

51 P.T.O.



14P/201/5(1)

o saRE afed ¥% I8 B, 9

(1) et o % =y & T @

(2) wReEE Red &F @w, 1934 & PEfa srgaeh # wifm &
3) Sfp RfEe oo & et i 8

(4) wreeE R 9% @ WEED

128.Demand for money in the modern sense is dependent on :

(1} Liquidity preference (2) Velocity of circulation
(3) Volume of exchange (4) Volume of money supply
T W ®oEr o AT . o AT ?

(1) aearen ARER (2) WE AT

(3) Rafra & aE (4) TET TR AN

126.A distribution has mean = 18.6, medion = 17.5 and mode = 16.2 The
distribution is : :
(1) Positively skewed (2) Negatively skewed
(3) Symmetrical (4) A symmetrical
wF RET § Aey - 18,6, WS = 17.5 AT qgEH = 162 T A
R 2 ¢
(1) o=reTe (e (2) T Rl
(3} HHHA (4) TH 9qEH

127, Median is also called :
(1) First Quartile . (2) Second Quartile
(3) Third Quartile (4} Quartile Deviation

52



14P/201/5(i)

HEHT B T8 0 Ber Ty L -
(1) o9 Igafe (2) facim aguts -
(3) T egefs (4) =eiE Rreee

128.In a batch of 13 students, 4 have failed. The marks of the successfu]
students were 40, 56, 37, 65, 37, 39, 81, 71 and 44. Find the median
marks : ‘

13 Renfeflt & e 4, 4 orgeel 91 31 2R sk ot & s
40.56,37,55,37,39,31,71«31‘!144€rﬁrmma?rmr=rﬁ'ﬁawma
HIA ;-

{1y 37 (2) 39 (3} 40 (4] 44

129.The mean of squared deviations about the mean is called :

{1} Standard Deviation (2) Quartile Deviation
(3} Mean Deviation (4) Variance
Fi-Rraws & wreq & @ @y e oy ¥

(1} W= Raes (2) =guts RaaT
(3) A faeEe (4)  gEIoT

130.{Mean * 3 Standard Deviation} covers :
(1) 50 % items {2) 90 % items
(3) 95.45 % items (4] 99.73 % items

("rem +3 W Rrawe) #at e ¢
(1) =g H 50% (2) T W 90 %
(3) & F 95.45 % (4) TE W 99.73 %
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131.1f % =500 and a =250, the coefficient of variation is :

aft %=500 ST g=250 & RrET B TUH ¥ :
(1} 25% (2) 50% @) 75% (). 100 %

H
132, Find the coefficient of variation, if the sum of squarca of dcwatmns of

10 observations taken from mean 50 is 250 :

frerer @ ETR W FH, A lﬁmﬁﬁ_%}m%ﬁ
7 W 5099 & 250 ¥ ¢

(1) 10 2) 25 (3} S0 (4) 250

133.Karl Pearson coefficient of correlation will be positive when :
(1) X increaser, Y decreases
{2) Y increaser, X decreases -
(3) Both X an Y are increasing

(4) X increases, Y remain constant

e RaTE & WG R U e g o

1) Xagmtygem ¥ (2 Xuew By gar d
(3} &Fr X ol ¥ woa & (4) X szen ¥ y feux e B

134.1f £ D? is zero, the spearmans Rank curre!auan cocfﬁclent will be :

o rp? g B, W & gre “_T’I‘I'ﬂi & -
1) -10 (2) -0.5 (3). +0.5 (4) + 1.0
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138. Fisher's ideal index formula satisfieg :
(1} Circular test
(2} Time reversal test
{3) Facter reversal test
(4) Both the factor reversal and time reversal test

138, 0Ordinal measure of utility is required in :

{1} Revealed preference (2) Utility

' (3) Indifference curve 4) Demand curve
YA & FY O AT & ST & -

1) gemar siftmrr & (2) Igdifer &
(3) T A & (4) #Ffr g% 3

137.1In the case of an inferior good, the income elasticity of demand is :

(1) Pesitive (2) Zero
(3) Negative (4} Infinite _
wﬁwaﬁ%w—aﬂﬁhaﬁmeﬁaiﬂﬁ%:
(1) o= Ters 21 =
(3) TS (4) Syqifer '
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138.1{ regard less of changes in its price, the quantity demanded of a good

remains unchanged, then the demand curve for the good will be :
(1) Horizontal (2) Vertical

(3) Positevely sloped (4) Negatively sloped

afts e 8 o A SRR R o ST o e A AR A
st @ @ Teg & R s = #W

(1) &R (2) =T

(3) RS EGHAT (4) SR AT

139.Firm gains abnormal profit in monopolistic competition when

ﬁwmﬂmmmam:
(1) MR =MC (2) AR > AC
(3) AR=AC {4) AR < AC

140. When the price of a subsitute of a commuodity x falis then the demand

forx:
(1) Increases - (2} Decreases
{3) Remains unchanged (4) Fluctuates

mmx%nﬁwﬁqﬁmﬁm%aﬁwxaﬂﬁm:
(1) wgdr B - 2) =@ ¥
(3) ﬁi_mﬁaﬁﬁm (4) T Tl B
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141.The concept of imperfect competition was propounded by ;

(1} Marshall (2} Jevons

{3) John Robinson (4) Ms. Lillian Gilberth
FYol ofelifRT & aron gRrofEe faer 2

(1) #EE A (2) SEFRE A

(3) I =T A (4) =fracht Rl fesg 3

142. Price discrimination is beneficial when :
{1} Legal acceptance granted
(2] Difference in elasticity of demand
(3) Difference in distance of markets is greater

(4) Market is small

(1) =g g ura &

(2) =T A A # a8

(3) FARY & Hw W gH e &
(4) =TT BrET B

143,The FRBMA stands for :
(1} Forcign Regulation and Budget management Act
(2) Fiscal Responsibility and Budget management Act
(3) Finance Regulations and Bonds management Association

(4) Fund Reallocation and Budget management Act

§7 P.T.O.
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FRBMA & arqd 8 : |

(1) F&hﬁﬁﬁmwmw—aaﬁﬁw

2) o SR au s S ARtEE
(3) e fafrg qen | SEEd Y

14) WYY gE: MW e e AfUFEE T

144.0One major factor that has stimulated the globalisation process is ;
(1) Effective utilisation of resources _
(2} Increare in income and wealth
(3) Willingness to cooperate

(4) Rapid improvement in technology

e ) S B AR R T O TS P E
(1) weTeEt FHOTHE I -
(2) o 7 v 7 A

(3) EEERY HAA WM TSI

(4} el & e 3w G

148, Co-existence of cahitalism and socialism is a feature of :
(1) Laissez Faire (2) communism

(3) Socialism (4) Mixed Economy
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ﬁmawmm%wﬁ%%:

(1} S5 Irefareaser o (2) |rEEE @

(3) HHETER &/ 4) faiE exefiaqam!?;r
146. Optimum welfare can be attained only under ;

(1) Monopoly (2) Impt_aﬁ'ect competition

(3] Perfect competition (4} Oligopoly

STIRSTR T Hrey f5ar o et ¥ R

(1) wpfasr ¥ (2) et afemifar &

(3) 9o afEfEr & (4) oTeqiEm &

147.Under new Industrial Policy 1991

(1) The mandatory convertibility clause is applicable for all term
loans

(2)  The mandatory convertibility clause is applicable for term loans
less tHan 10 years o |

(3) The mandatory convertibility clause is applicable for term loans
of more than 10 years

(4) The mandatory convertibility clause is no longer applicable

7% e it 1991 $ errh -

(1) aﬁaﬁqﬁaﬁqmmmTﬁﬁrmaﬁtwﬁ%%qmﬁm%

(2) afrard qRactaar armist 1099 & =9 % waEfr 3o & fBio
AT BT

(3) offvard aftasigar amisr 10 a8 @ afes & |@Y SO0 &
ot oy B #

(4) arFrard aRed=ae amain o @ @t S &

59 P.T.O.



14P/201/8(1)

148.In the c_asé of Giffen good, the demand curve will be :
() Horizontal
(2) Dom@d sloping to the right
(3) Backward falling to the left
(4) Upward sloping to the right

e ey @ Ty § HFT @6 BT
(1) &ferst

(2) < SRt o agel

(3) S o § @@ T P o @
@) =tdt afr sl wget

149.1{ a good is a luxury, its income elasticity of demand is ;
(1) positive and less than 1
(2) Negative but ércater than -1
(3) Positive and greater than 1

(4) Zero

ﬁmmﬁwﬂmtcﬁwﬁrﬁﬂaﬁlmﬁqﬂﬂ%?
(1) o® 3T 1 @ M (2) FOTTTF AT -1 F SEE
(3) oA AT 1 ] AfE (4) FH
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150.India is not a member of :
(1) G-15 (2) UNO
{3) ASEAN (4) Commonwealth

AT e TE R
(1) G-15%r (2) UNO &r
(3) ASEAN @ - (4) ey 7

61 ' ~ 5,000
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11.

111
13.
14.

syeaferat ¥ forg Frden
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